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Question Number : 1 Question Id : 86435128830 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct words to complete the sentence :

It was cold we couldn’t go out.
1. so, that
2. too,to

3. neither, nor

4. either, or
Options :
86435199771. 1
86435199772. 2
86435199773. 3

86435199774. 4

Question Number : 2 Question Id : 86435128831 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Choose the correct word to complete the sentence :

She never with him.
1. agrees
2. agreeing

3. was agreed

4. is agree
Options :
86435199775. 1
86435199776. 2
86435199777. 3

86435199778. 4

Question Number : 3 Question Id : 86435128832 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct word to complete the sentence :

My uncle _ tomorrow.
1. will arrived

2. isarriving

3. arrive

4. has arrived

Options :

86435199779. 1
86435199780. 2
86435199781. 3
86435199782. 4



Question Number : 4 Question Id : 86435128833 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A person who breaks the law is

1. rogue

2. criminal

3. guilty

4. sinner
Options :

86435199783. 1
86435199784. 2
86435199785. 3

86435199786. 4

Question Number : 5 Question Id : 86435128834 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which is the nearest meaning of the phrase, 'to build castles in the air'?
1.  Unimaginative
2. To be practical
3. To be very optimistic

4. Daydream
Options :
86435199787. 1
86435199788. 2
86435199789. 3

86435199790. 4



Question Number : 6 Question Id : 86435128835 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Choose the correct option for the use of ‘the'.
1. The Canada
2. The Netherlands

3. The India

4. The South America
Options :
86435199791. 1
86435199792. 2
86435199793. 3

86435199794. 4

Question Number : 7 Question Id : 86435128836 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Synonym of Tangible is

1. concrete

2. actual

3. sensible

4. abstract
Options :
86435199795. 1
86435199796. 2
86435199797. 3

86435199798. 4



Question Number : 8 Question Id : 86435128837 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Antonym of Outcast is

1. unwanted

2. persona non grata

3. favorite
4. gypsy
Options:

86435199799. 1
86435199800. 2
86435199801. 3

86435199802. 4

Question Number : 9 Question Id : 86435128838 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Complete the following sentence by selecting the appropriate option :

| hurt my knee quite badlyso

1. | did not have the right running shoes
2. | did not have the bandage

3. it was bleeding profusely

4. | had to go to hospital
Options:
86435199803. 1

86435199804. 2

86435199805. 3



86435199806. 4

Question Number : 10 Question Id : 86435128839 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct spelling.

1. nth

2. wreath

3. reeth

4.  writh
Options :

86435199807. 1
86435199808. 2
86435199809. 3

86435199810. 4

Question Number : 11 Question Id : 86435128840 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct word to fill in the blank :

We  inthe London, but now we live in Delhi.
1. lived

2. usedtolive

3. were

4. happen to live
Options:

86435199811. 1



86435199812. 2
86435199813. 3

86435199814. 4

Question Number : 12 Question Id : 86435128841 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There is a certain relation between two given words on one side
of - - and one word is given on another side. The word is to be found from the
given alternatives, having the same relation with this word as the given pair
has. Select the best alternative.

Darwin : Evolution : : Archimedes : ?
1.  Friction

2. Lubrication

3. Buoyancy
4  Liguids
Options:

86435199815. 1
86435199816. 2
86435199817. 3

86435199818. 4

Question Number : 13 Question Id : 86435128842 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



There is a certain relation between ftwo given words on one side
of - - and one word is given on another side. The word is to be found from the

given altemnatives, having the same relation with this word as the given pair
bear. Choose the best alternative.

Virology - Virus : . Semantics © ?

1. Amoeba

2. Language

3. Nature

4 Society
Options :

86435199819. 1
86435199820. 2
86435199821. 3

86435199822. 4

Question Number : 14 Question Id : 86435128843 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In the following question, a pair of words is given followed by four pairs of
words as alternatives. The candidate is required to choose the pair in which the

words bear the same relationship to each other as the words of the given pair
bear.

Apostate : Religion
1. Teacher: Education
2. Traitor : Country
3. Potentate : Kingdom

4. Jailer: Law
Options :
86435199823. 1
86435199824, 2

86435199825. 3



86435199826. 4

Question Number : 15 Question Id : 86435128844 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the group of letters which is different from others.

1. DkUZ
2. LPuB
R
3. FoMY
4. UXeN
Options:

86435199827. 1
86435199828. 2
86435199829. 3
86435199830. 4

Question Number : 16 Question Id : 86435128845 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the group of letters which is different from others.

1. DXCLQZ

2. PFZUBM

3.  XGKNTY

4. NWMBHJ
Options :

86435199831. 1

86435199832. 2



86435199833. 3

86435199834. 4

Question Number : 17 Question Id : 86435128846 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a certain code language, BEAT is written as YVZG. What will be the code of
MILD?

1. ONRW
2. NOWR
3. ONWR
4. NROW
Options :

86435199835. 1
86435199836. 2
86435199837. 3

86435199838. 4

Question Number : 18 Question Id : 86435128847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If BE QUICK is coded as ZC OSGAI, then the code of the last |letter of the third
word in the sentence | LOVE MY COUNTRY is

1. A
2 T
3 U



Options :

86435199839. 1
86435199840. 2
86435199841. 3
86435199842. 4

Question Number : 19 Question Id : 86435128848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In a certain code language, THANKS is written as SKNTHA. How is STUPID
written in that code language?

1.. DIPUTS
2. DISPUT
3. DIPUST

4. None of the above
Options :
86435199843. 1
86435199844, 2
86435199845. 3

86435199846. 4

Question Number : 20 Question Id : 86435128849 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A man is facing West. He turns 45° in the clockwise direction and then another
180° in the same direction and then 270° in the anti-clockwise direction. Which
direction is he facing now?

1.  South
2.  North-West
3. West

4. South-West
Options :
86435199847. 1
86435199848. 2
86435199849. 3
86435199850. 4

Question Number : 21 Question Id : 86435128850 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One day, Ravi left home and cycled 10 km southwards, turned right and cycled
5 km and turned right and cycled 10 km and turned left and cycled 10 km. How
many kilometers will he have to cycle to reach his home straight?

1. 10km
2. 15km
3. 20km
4. 25km
Options:

86435199851. 1
86435199852. 2
86435199853. 3
86435199854. 4



Question Number : 22 Question Id : 86435128851 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A man is facing South. He turns 135° in the anti-clockwise direction and then
180° in the clockwise direction. Which direction is he facing now?

1. North-East
2. North-West
3. South-East

4. South-West
Options :
86435199855. 1
86435199856. 2
86435199857. 3

86435199858. 4

Question Number : 23 Question Id : 86435128852 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In the following question, a number series is given with one term missing.
Choose the correct alternative that will continue the same pattern and replace
the question mark (?) in the given senes.

4832, 5640, 6648, ?

1. 7815
2. 7846
3. 7856
4. 7887
Options :

86435199859. 1
86435199860. 2



86435199861. 3

86435199862. 4

Question Number : 24 Question Id : 86435128853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In the following question, a number series is given with one term missing.

Choose the correct alternative that will continue the same pattermn and replace
the question mark (?) in the given series.

2,15,41, 80, ?
. 1N
2. 120
3. 121
& 132
Options :

86435199863. 1
86435199864. 2
86435199865. 3

86435199866. 4

Question Number : 25 Question Id : 86435128854 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the following question, a number series is given with one term missing.
Choose the correct alternative that will continue the same pattern and replace
the question mark (?) in the given series.

4,6,9,135,7
1. #5
2. 190
3. 2025
4 2275

Options :

86435199867. 1
86435199868. 2
86435199869. 3

86435199870. 4

Question Number : 26 Question Id : 86435128855 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If in the English alphabet, every even letter beginning from B is replaced by odd
number beginning with 3, which letter/number will be the third to the right of the
tenth number/letter counting from your right?

1. M
2. 8
¥ "

4.  None of these
Options :
86435199871. 1
86435199872. 2
86435199873. 3

86435199874. 4



Question Number : 27 Question Id : 86435128856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the positions corresponding to the multiples of 5 in the English alphabet

are replaced by symbols and that of multiples of 7 by digits, how many letters
will be left?

1. 15
2 I
3. 18
4. 21
Options :

86435199875. 1
86435199876. 2
86435199877. 3

86435199878. 4

Question Number : 28 Question Id : 86435128857 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A series is given with one term missing. Choose the correct alternative from the
given ones that will complete the series :

36, 34, 30, 28, 24,

1. 20
2. 23
S T
4. 26
Options :

86435199879. 1

86435199880. 2



86435199881. 3
86435199882. 4

Question Number : 29 Question Id : 86435128858 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A series is given with two terms missing. Choose the correct alternatives from
the given ones that will complete the series :

3, 5, 35, 10, 12, 35,

1. 19,35
2. 17,19
3. 19,24
3. 2235
Options :

86435199883. 1
86435199884. 2
86435199885. 3

86435199886. 4

Question Number : 30 Question Id : 86435128859 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Select the related number from the given alternatives that will complete the
series :

Wil

1. 49

2. 25

3. 16

4. 9
Options :

86435199887. 1
86435199888. 2
86435199889. 3

86435199890. 4

Question Number : 31 Question Id : 86435128860 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A series is given with some letters missing. Choose the correct alternative from
the given ones that will complete the series :

BR _NB O NB

1.  WNWN
2. OWRW
3. owow
4. RORO
Options :

86435199891. 1
86435199892. 2
86435199893. 3
86435199894. 4



Question Number : 32 Question Id : 86435128861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A series is given with some letters missing. Choose the set of letters which when
sequentially placed shall complete it :

a dba bcad da  cd

1. cbecddcba

2. bccdbeab

3. aabbccdd

4. abcddcba
Options :

86435199895. 1
86435199896. 2
86435199897. 3
86435199898. 4

Question Number : 33 Question Id : 86435128862 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A series is given with one term missing. Choose the correct altemative from the
given ones that will complete the series :

4, 6,10, 16,24, 7

1. 40
2. 34
3. 30
4. 28
Options:

86435199899. 1



86435199900. 2
86435199901. 3

86435199902. 4

Question Number : 34 Question Id : 86435128863 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Select the related word(s) from the given alternatives :

Kidneys : Nephron : : Central Nervous System : ?
1. Cerebrum

2. Brain

3. Neurons

4. Spinal cord
Options:
86435199903. 1
86435199904. 2
86435199905. 3

86435199906. 4

Question Number : 35 Question Id : 86435128864 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Select the related letters from the given alternatives :

JOKE : GLHB : : RISK : ?

1. QHRJ
2. SJTL
3. ULVN
4. OFPH
Options :

86435199907. 1
86435199908. 2
86435199909. 3

86435199910. 4

Question Number : 36 Question Id : 86435128865 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the related letters from the given alternatives :

MAN : PDQ :: WAN :?

1. NAW
2. ZDQ
3 YDQ
4. YQD
Options :

86435199911. 1
86435199912. 2
86435199913. 3

86435199914. 4



Question Number : 37 Question Id : 86435128866 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the related word from the given alternatives :

Pride of Lions : : 7 of Cats

1. Clowder

2. Herd

3. School

4. Bunch
Options :

86435199915. 1
86435199916. 2
86435199917. 3

86435199918. 4

Question Number : 38 Question Id : 86435128867 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the related number from the given alternatives :

Fedig il

1. 1728

2. 1700

3. 1600

4. 1723
Options :

86435199919. 1

86435199920. 2



86435199921. 3

86435199922. 4

Question Number : 39 Question Id : 86435128868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Find out the alternative which will replace the question mark :

Anatomy : Zoology : : Paediatrics : 7
1. Chemistry

2. Medicine

3. Palaeontology

4. Mechanics
Options :
86435199923. 1
86435199924. 2
86435199925. 3

86435199926. 4

Question Number : 40 Question Id : 86435128869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In a certain code, GARNISH is written as RGAINHS. How will GENIOUS be
written in that code?

1. ENGOIUS
2. NEGIOUS
3. NGEOISU
4. GENOISU

Options :



86435199927. 1
86435199928. 2
86435199929. 3

86435199930. 4

Question Number : 41 Question Id : 86435128870 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Six members of a family namely A, B, C, D, E and F are travelling together. B is
the son of C but C is not the mother of B. A and C are married couple. E is the
brother of C, D is the daughter of A. F is the brother of B. How many male
members are there in the family?

$. 2
2. 3
3. 4
4 1
Options :

86435199931. 1
86435199932. 2
86435199933. 3

86435199934. 4

Question Number : 42 Question Id : 86435128871 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Sunil is the son of Kesav. Simran, Kesav's sister, has a son Maruti and daughter
Sita. Prem is the maternal uncle of Maruti. How is Sunil related to Maruti?

1. Cousin

2.  Maternal uncle

3. Brother
4. Nephew
Options :

86435199935. 1
86435199936. 2
86435199937. 3

86435199938. 4

Question Number : 43 Question Id : 86435128872 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the following letter sernies, some of the letters are missing which are given in
that order as one of the alternatives below it. Choose the correct alternative.

~a_b_abaa_ bab_abb

1. aaabb
2. ababb
3. babab
4 babba
Options :

86435199939. 1
86435199940. 2
86435199941. 3

86435199942. 4

Question Number : 44 Question Id : 86435128873 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

In the following question, a letter-number series is given with one term missing
as shown by question mark (?). Choose the missing term out of the given
alternatives.

W-144 ? 5100, Q-81, O-64

1. U2
2. U422
3. Va2
4. V128
Options :

86435199943. 1
86435199944. 2
86435199945. 3

86435199946. 4

Question Number : 45 Question Id : 86435128874 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sunita rode her scooty northwards, then turned left and then again rode to her

left 4 km. She found herself exactly 2 km west of her starting point. How far did
she ride northwards initially?

1. 2km
2. 4km
3. 6km
4. 5S5km
Options :

86435199947. 1
86435199948. 2
86435199949. 3
86435199950. 4



Question Number : 46 Question Id : 86435128875 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Raj is standing in the middle of a square field. He starts walking diagonally to
North-East. Then, he turns right and reaches the far end of the field. Then, he
turns right and starts walking. In the midway, he again turns right and starts
walking. In the midway, he again turns right and starts walking. In the halfway,
he again turns right and starts walking. In the halfway, he turns to his left and
reaches a new far end. In what direction is Raj now?

1. North

2.  South

3. North-West

4. South-West
Options :
86435199951. 1
86435199952. 2

86435199953. 3

86435199954. 4

Question Number : 47 Question Id : 86435128876 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A and B are brothers. C and D are sisters. A's son is D's brother. How is B related
to C?

1.  Father
2. Brother
3. Grandfather

4. Uncle
Options :

86435199955. 1



86435199956. 2
86435199957. 3

86435199958. 4

Question Number : 48 Question Id : 86435128877 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A is B's sister. C is B's mother. D is C’s father. E is D’s mother. Then, how is A
related to D?

1.  Grandmother

2.  Grandfather

3. Daughter

4. Grand daughter
Options :
86435199959. 1
86435199960. 2

86435199961. 3
86435199962. 4

Question Number : 49 Question Id : 86435128878 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the odd pair of words.
1.  Blacksmith : Anvil
2. Carpenter : Saw
3. Barber : Scissor

4. Goldsmith : Ornaments
Options :

86435199963. 1



86435199964. 2
86435199965. 3

86435199966. 4

Question Number : 50 Question Id : 86435128879 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Choose the odd pair of words.

1. Volume : Litre

2. Time : Second

3. Resistance : Ohm

4. Pressure : Barometer
Options:
86435199967. 1
86435199968. 2
86435199969. 3

86435199970. 4

Question Number : 51 Question Id : 86435128880 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange the following words as per the order in the dictionary :
A. Consume
B. Consciousness
C. Conscience
D. Conservation
E. Consequence
1:: L. B.AE;D
2. EABED
3. C,EBDA

4. C,B,EDA
Options :
86435199971. 1
86435199972. 2
86435199973. 3

86435199974. 4

Question Number : 52 Question Id : 86435128881 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Select the missing number from the given responses :

1 | 216 | 343
8 |125| Hi12
27 | 64 ?

35 | 401 | 1575

1. 615
2. 729
3 55
4. 340
Options :

86435199975. 1
86435199976. 2
86435199977. 3

86435199978. 4

Question Number : 53 Question Id : 86435128882 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose a similar word :
Sitar : Guitar : : Tanpura : ?
1. Trumpet
2. Violin
3.  Harmonium

4. Mridanga
Options :
86435199979. 1

86435199980. 2



86435199981. 3

86435199982. 4

Question Number : 54 Question Id : 86435128883 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Choose a similar word :

Jute : Cotton : : Wool : ?

1. Terylene

2. Silk

3. Rayon

4. Nylon
Options :

86435199983. 1
86435199984. 2
86435199985. 3

86435199986. 4

Question Number : 55 Question Id : 86435128884 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose a similar word :
Marble : Slate : : Gneiss : ?
1. Quartzite
2. Limestone

> 3. Coal

4. Sandstone

Options:



86435199987. 1
86435199988. 2
86435199989. 3

86435199990. 4

Question Number : 56 Question Id : 86435128885 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In this question, three statements followed by two conclusions numbered | and
|l have been given. You have to take the given statements to be true even if
they seem to be at variance from the commonly facts and then decide which of
the given conclusions logically follows from the given statements disregarding
commonly known facts.
Statements . Some flats are apartments.

No apartment is a hall.

Some halls are rooms.
Conclusions : |. Atleast some rooms are flats.

|I. No apartment is a room.

1. Only Conclusion | is true
2. Only Conclusion Ilis true
3. Both Conclusions | and Il are true

4. Neither Conclusion | nor Il is true

Options :

86435199991. 1
86435199992. 2
86435199993. 3
86435199994. 4



Question Number : 57 Question Id : 86435128886 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are deers and peacocks in a zoo. By counting heads they are 80. The
number of their legs is 200. How many peacocks are there?

1. 10

2. 3D

2. 50

4. 60
Options :

86435199995. 1
86435199996. 2
86435199997. 3

86435199998. 4

Question Number : 58 Question Id : 86435128887 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A certain number of horses and an equal number of men are going somewhere.
Half of the owners are on their horses’ back while the remaining ones are walking
along leading their horses. If the number of legs walking on the ground is 70, how
many horses are there?

1. 10
2. 12
3. 14
4. 16
Options:

86435199999. 1
864351100000. 2
864351100001. 3

864351100002. 4



Question Number : 59 Question Id : 86435128888 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A, B, C, D and E play a game of cards. A says to B, “If you give me three cards,
you will have as many as E has and if | give you three cards, you will have as
many as D has". A and B together have 10 cards more than what D and E
together have. If B has two cards more than what C has and the total number of
cards be 133, how many cards does B have?

. 22
2. 23
32 25
4. 35
Options :

864351100003. 1
864351100004. 2
864351100005. 3
864351100006. 4

Question Number : 60 Question Id : 86435128889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A player holds 13 cards of four suits, of which seven are black and six are red.
There are twice as many diamonds as spades and twice as many hearts as
diamonds. How many clubs does he hold?

1. 4
2: B
3. 6
4. 7

Options :

864351100007. 1



864351100008. 2
864351100009. 3

864351100010. 4

Question Number : 61 Question Id : 86435128890 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The first Education Policy in India was announced in the year

1. 1945
2. 1968
3. 1986
4. 1992

Options :

864351100011. 1
864351100012. 2
864351100013. 3

864351100014. 4

Question Number : 62 Question Id : 86435128891 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The features that distinguish the Harappan Civilization from other contemporary
Bronze Age Civilization of the world are

A. civic amenities
B. grand religious shrines
C. magnificent buildings

D. funerary complexes for kings

1.  Aonly

2. Bonly

3. BandD

4. AandC
Options :

864351100015. 1
864351100016. 2
864351100017. 3

864351100018. 4

Question Number : 63 Question Id : 86435128892 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Violence in the Deccan riots was directed towards the
1. courts
2. hospitals
3. houses of sahukars

4. debt bonds
Options :
864351100019. 1

864351100020. 2



864351100021. 3
864351100022. 4

Question Number : 64 Question Id : 86435128893 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The hottest planet in the solar system is

1. Earth
2. Mars
3. Venus
4.  Jupiter
Options :

864351100023. 1
864351100024. 2
864351100025. 3
864351100026. 4

Question Number : 65 Question Id : 86435128894 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
COVID-19 is caused by the virus

1. SARS-CoV-2
2. SARS-CoV
3. SARS-CoV-3

4. SARS
Options:
864351100027. 1

864351100028. 2



864351100029. 3

864351100030. 4

Question Number : 66 Question Id : 86435128895 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Subhas Chandra Bose was unhappy with the Congress resolution at Ramgarh
in March 1940, because

A. Gandhi agreed to give support to the British war effort
B. Gandhi did not give a call for an immediate struggle

C. Subhas Chandra Bose did not want to compromise with imperialism and
wanted the people to be ready for action

Select the code(s) for correct statement.
1. Aonly
2. Bonly
3. AandC only

4. A, BandC
Options :
864351100031. 1
864351100032. 2
864351100033. 3

864351100034. 4

Question Number : 67 Question Id : 86435128896 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The British Cabinet Mission which came to India in March 1946 did not have as
its member

1. Lord Pethick-Lawrence

2.  Sir Stafford Cripps

R

3. A. V. Alexander

4. Campbell H. Johnson
Options :
864351100035. 1
864351100036. 2
864351100037.3
864351100038. 4

Question Number : 68 Question Id : 86435128897 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What was the main agenda of the Swaraj Party?
A.  Council entry
B. Politics of obstruction from within

C. Constructive rural work
1. Aonly
2. Conly
3. AandB only

4. A/B,andC
Options :
864351100039. 1
864351100040. 2

864351100041. 3



864351100042. 4

Question Number : 69 Question Id : 86435128898 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who is regarded as India’s first labour leader much before the beginning of the
Trade Union Movement?

1. Sorabjee Shapoorjee Bengalee
2. Narayan Meghaji Lokhande
3. Lala Lajpat Rai

4. B.P.Wadia
Options :
864351100043. 1
864351100044. 2
864351100045. 3

864351100046. 4

Question Number : 70 Question Id : 86435128899 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UNESCO is

1.  an Indian company
2. aunion of scientific organization
3. aninternational organization associated with UNO

4. a body of cultural societies
Options:
864351100047. 1
864351100048. 2



864351100049. 3
864351100050. 4

Question Number : 71 Question Id : 86435128900 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Reducing infant mortality helps control the growth of population by
1.  controlling repeated childbirth to compensate for the mortality
2.  protecting the health of the mother
3. increasing the gap between two births

4. preventing the tendency to choose the sex of the prenatal child
Options :
864351100051. 1
864351100052. 2
864351100053. 3

864351100054. 4

Question Number : 72 Question Id : 86435128901 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

It is often argued that population growth is not merely a question of numbers but
that of the age composition of population. This is because

1.  more numbers will inevitably mean more production
2. more people in the productive age group means net addition to wealth

3. the nature of public expenditure on services is determined by the
composition of the population

4. None of these

Options:



864351100055. 1
864351100056. 2
864351100057. 3

864351100058. 4

Question Number : 73 Question Id : 86435128902 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Chocolates can be bad for health because of a high content of

1.  cobalt
2.  nickle
3. zinc
4. lead
Options :

864351100059. 1
864351100060. 2
864351100061. 3

864351100062. 4

Question Number : 74 Question Id : 86435128903 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



What are the main causes of malnutrition in India?

A. Socio-cultural factors such as access to clean drinking water,
sanitation, etc.

B. Lack of balanced diet

C. Lack of awareness about nutritional requirements
1.  AandB only
2. BandC only
3. AandC only

4. A, BandC
Options :
864351100063. 1
864351100064. 2
864351100065. 3

864351100066. 4

Question Number : 75 Question Id : 86435128904 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Children, especially in western countries, who receive very little sunshine suffer
from

1. rickets

2. dermatitis

3.  scurvy
4. All of these
Options :

864351100067. 1
864351100068. 2

864351100069. 3



864351100070. 4

Question Number : 76 Question Id : 86435128905 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A vast proportion of our body's weight is made up of

1. bones
2.  water
3. organs

4.  skin, tissues and organs
Options :
864351100071. 1
864351100072. 2
864351100073. 3
864351100074. 4

Question Number : 77 Question Id : 86435128906 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The mascot for Tokyo 2020 Olympics is

1. Cobot
2. Dall
3. Miraitowa

4. Someity
Options :
864351100075. 1
864351100076. 2

864351100077. 3



864351100078. 4

Question Number : 78 Question Id : 86435128907 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

It is not advisable to sleep under a tree at night because of the
1. release of less oxygen
2. release of more oxygen
3. release of carbon dioxide

4. release of carbon monoxide
Options :
864351100079. 1
864351100080. 2
864351100081. 3
864351100082. 4

Question Number : 79 Question Id : 86435128908 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Most abundant blood cells in the human body are
1. WBCs
2. RBCs

3. platelets

4. plasma cells
Options :
864351100083. 1
864351100084. 2
864351100085. 3
864351100086. 4



Question Number : 80 Question Id : 86435128909 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Overall increase in blood pressure, both in men and women, is due to

—
"

bad dietary habits

po

escalating sedentary behavior

o

increasing salt intake

4. excessive consumption of sugar, salt and fats
Options :
864351100087. 1
864351100088. 2
864351100089. 3

864351100090. 4

Question Number : 81 Question Id : 86435128910 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Indigo is used in the

1.  perfumery industry

2. pharmaceutical industry

3. dyeing industry

4. food industry
Options:
864351100091. 1
864351100092. 2
864351100093. 3

864351100094. 4



Question Number : 82 Question Id : 86435128911 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The gas evolved during the fermentation of a sugar solution is
1. oxygen
2. carbon monoxide

3. carbon dioxide

4. methane
Options :
864351100095. 1
864351100096. 2
864351100097. 3

864351100098. 4

Question Number : 83 Question Id : 86435128912 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The Rajya Sabha has equal powers with the Lok Sabha in

1.  the matter of creating new All India Services
2. amending the Constitution
3. the removal of the government

4.  making cut motions
Options:
864351100099. 1
864351100100. 2
864351100101. 3
864351100102. 4

: MCQ Option Shuffling : No

: MCQ Option Shuffling : No



Question Number : 84 Question Id : 86435128913 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Javelin throw competition at Tokyo 2000 Olympics was won by
1.  Sakshi Malik
2. Yogeshwar Dutt
3. Dutee Chand

4. MNeeraj Chopra
Options :
864351100103. 1
864351100104. 2
864351100105. 3

864351100106. 4

Question Number : 85 Question Id : 86435128914 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Among the following tiger reserves, which one has the largest area under 'Critical
Tiger Habitat'?

1. Corbett
2. Ranthambore
3. Nagarjunsagar Srisailam
4. Sunderbans
Options :
864351100107. 1
864351100108. 2

864351100109. 3
864351100110. 4



Question Number : 86 Question Id : 86435128915 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following pairs is/are correctly matched?
A.  Angami-Assam

B. Toda-Tamil Nadu

C. Moplah—-Lakshadweep

D. Birhor-Arunachal Pradesh

1.  Aand D only

2. Bonly

3. Conly

4. Al of these
Options :

864351100111. 1
864351100112. 2
864351100113. 3
864351100114. 4

Question Number : 87 Question Id : 86435128916 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The percentage of literates in India is
1. lower among males than females

2. lower in urban areas than in rural areas

3. higher among males

4. almost equal among males and females

Options :



864351100115. 1
864351100116. 2
864351100117. 3

864351100118. 4

Question Number : 88 Question Id : 86435128917 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following indices are released by NIT| Aayog?
A. State Energy Index
B. District Hospital Index
C. State Health Index
D. Composite Water Management Index
E. SDG India Index
Choose the correct answer from the options given below.
1. C,DandE only
2. A C,DandE only
3. A, BandE only

4. A/B,C,DandE
Options:
864351100119. 1
864351100120. 2
864351100121. 3
864351100122. 4

Question Number : 89 Question Id : 86435128918 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The Speaker of the Lok Sabha can be removed from the office by the
1. simple majority
2. special majority
3. absolute majority

4. effective majority
Options :
864351100123. 1
864351100124. 2
864351100125. 3

864351100126. 4

Question Number : 90 Question Id : 86435128919 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For an Indian citizen, the duty to pay taxes is a
1.  constitutional obligation
2. moral obligation
3. legal obligation

4. fundamental duty
Options:
864351100127. 1
864351100128. 2
864351100129. 3

864351100130. 4

Question Number : 91 Question Id : 86435128920 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List=I| with List=Il :

List-I List—II

(A) Bhitarkanika National Park (I) Rhinoceros
(B) Kaziranga National Park (I) Bengal tiger

(C) Sunderbans National Park | (lll) Red panda

(D) Singalila National Park (IV) Crocodiles

Choose the correct answer from the options given below.
1. (A(): (B)(I); (C-=(lIl): (D)-(IV)
2. (A)(1); (B)(IV); (C)-(I); (D)1l
3. (A-(V); (B)=(I): (C)-(1ll); (D))
4. (A-(V); (B)(1); (C)-(I); (D))

Options :

864351100131. 1
864351100132. 2
864351100133. 3

864351100134. 4

Question Number : 92 Question Id : 86435128921 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The mating and nesting around of 50% of the world's olive ridley turtles, the
smallest and abundant sea turtles, is located in

1. Goa coast
2. Qdisha coast
3. Malabar coast

4.  Gulf of Kutch
Options :
864351100135. 1

864351100136. 2



864351100137. 3
864351100138. 4

Question Number : 93 Question Id : 86435128922 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘Cattle rustling’ refers to
1. infertile cattle of no use to man
2. poaching
3. theft of cattle

4. stray cattle
Options :
864351100139. 1
864351100140. 2
864351100141. 3

864351100142. 4

Question Number : 94 Question Id : 86435128923 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The overfishing and destruction of the Grand Banks; the destruction of salmon
runs on the rivers having been dammed; and the devastation of sturgeon fishery
on the Columbia river in the Northwest United States exemplify

1. resource depletion
2. overfishing and overpopulation
3. overpopulation in companion animals

4. tragedy of the commons
Options :

864351100143. 1



864351100144. 2
864351100145. 3

864351100146. 4

Question Number : 95 Question Id : 86435128924 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The greatest threat to organisms and biodiversity is
1. process of habitat loss
2. species extinction all over the world

3. reduced carrying capacity of the habitat

4.  biodiversity hot spots
Options :
864351100147. 1
864351100148. 2
864351100149. 3

864351100150. 4

Question Number : 96 Question Id : 86435128925 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

'Hazardous effects of a substance can be reduced by
1. increasing its bioavailability
2.  minimising its biodiversity
3. using protecting groups

4.  using solvents
Options :
864351100151. 1

864351100152. 2



864351100153. 3
864351100154. 4

Question Number : 97 Question Id : 86435128926 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is the major soil pollutant?
1. Radioactive waste

2. Pesticides

3. Nitrates
4. Dioxins
Options :

864351100155. 1
864351100156. 2
864351100157. 3

864351100158. 4

Question Number : 98 Question Id : 86435128927 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The contaminant not present in leaking gasoline is

1. benzene

2. ethanol

3. toluene

4.  methyl tertiary butyl ether
Options:
864351100159. 1
864351100160. 2



864351100161. 3
864351100162. 4

Question Number : 99 Question Id : 86435128928 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is the most toxic air pollutant?

1. Arsenic

2. Asbestos

3. Benzene

4. Potassium chloride
Options :
864351100163. 1
864351100164. 2
864351100165. 3

864351100166. 4

Question Number : 100 Question Id : 86435128929 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The air pollutant not obtained by combustion is

1. carbon dioxide

2. nitrogen dioxide

3. ammonia

4. sulphur dioxide
Options:

864351100167. 1



864351100168. 2
864351100169. 3

864351100170. 4



